R

Huy#iba® v ® 102 2FE5—

P - (4045 0 1545 2.5 9D
AR TR EE

By 220V BV RRIE L R
CHEARET o R L, By

et

iOpe: Ik S ENSNE ) i)
VIS BT (C) BBE Q
T(°C)

2T ERNAET 100 TEK
HOELE B 05 - / 52

(1 V-1 B Al AR08 B Ly (195

B BT W

FAERREHEFTEA R LA RE

4957 (2)

A dig B A

KBRS b

(T BfgAmAT K -

CDBSERBNBERERTE/ C - _(3)
(2O y (R o _(a)
3T T UASIR G HER - TR AR —CR - B

G~ C T8 1

CIOFEETRER S ESRE L 2 R 15 2 GEESRATEEEE)
C2OFIA TRz ) WS HIRRINIE © M ESSIT B 1A

RIS s R E) - B [
(37R(2)  AR{EE GBI a2 S

(5
P A AC =
1 7558 - __(6)

SCHRNE) A FUTEREIE %

45 cm o BC =3 cm > i [VIEEE 7 B20EE 5 em

b e CEERERITID) _(7)

4RI ERE D) 2 V)88 - TE RS B 2 B & %%'mzmmﬁ%az-;i » BERFRRIRGT R R T A BRI R » Hop )
IR BZIET - QAR S R BIRE B 5 — R BhRE 2 LR B2 - _(8)
544454 sin lg"(-«)— TR HREAELL 20 m /s B EHTEE o IR REEY L o R ST LA (BRIERHE

R EIm /s o (9)

CEE R m o

o HLi
13

mﬁﬁ*'ﬂufq 1F
_EIW&I“/ g HIIpL B

=P BN KRS 8 s e N TR - [

HERIR? o __(10)

» ELIK

7 li5]



1B VAN T

8.

-~Vt

5 L S .
ﬂifx ;’.‘_qrd‘ j/J xx[J )XI“&
cm > BSOS S om

IR RS B Pem - (B

S WML + A B B AFRERRIRR 06 B - C
RSP0 035  C SUATEZ VRS0 032  SEBWILIEII ARk 6 BISCABSSESARAIH  i

[ RSN GBI AE AL HHT B » FIME A DT B/ DTRECE hew (9988 - __(13)
A+
B
C 3
105~ ZRI N HE 30 kg J 40 kg SIEFE—F4 10 kg RURS - BRIRIEMD - SR7EEG—(8 5 kg WUERHMAG 7 ZBEER 21 X
PAIRIGE R o ORI - AHBHOREI RS R 20m /s JIH « ZIRGBIER AN Hk? - _(14)
VLA — S AR (o) 2 e 7 SRAEZE () - phZe i A — W R B{E S B=2.0 x 10 2

BE B E=1.0x10° 41 / iy 2195
FHTHLZ 39 SR8 W15 B B3R SOB S 5 BB T - T AR SR B S DT R < R
CLOBRBERET A AR 2 50 o BT R 8 - ORI R AR /)« __(15)

(2 )RAZ A l) Z Bl T PRI —JOKEE » HEA B'=0.10 40 / 9% - NR 23 585 J7 i SRS T2 B« AT 5 B R
ST E RS R 20 B 22 T E B RO ZREY) ST ER RS o e IR R b BROEET S E
FEAE 7 BEREHE R AR o (16)

2 ERAERNAE ¢ 2 RHE 2L 0 fftEi e  aBeT > 3

ps

il

CLORITI R B2 - _(17)
(2)mARER? - __(18)
(3)7KEEFE R« _(19)
1308 Frrs -
AEL F=14 N 227K » AR JIHLIL AT 2 A58 -

P

& FPTYEZI? « (g=10m /s*) _ (20)

PRI 2 © S Ze YRR R TR A 28 (B2 B T s (B A
e P PR SRR T
~EPABEEHERIE 27°C T B BT g R B4

RS Sy




£ 27°C 3

Vi
WY (23)  fr -
VAN
— R 2 FERRIIEE - {ERELE 2000 R AKSELT » S5 AR S E GBI /BT b2
HIBZ P v i SR S A (24) BRI/ NPT RIS 9
(BB 340m/s ) 5 T

17, — SRR HTR
TEFEEE S FIORCHIE By r INFEIR - 25550 Sy REE S BERL O 19FE
W%(D3M'Wrﬁwﬁ_J_L_°

TESPTR Ry m o TR — e o DLvo ZWIIE + KT AR I TR IS £
By SREDMEH ATESSSREPATEUIN « SR MT__(26) 2 SNBEIRHII BET__(20) 7 (%%

EEpR) bbb A
L o

M~ Yo R

g O...b).m. ......................

19 QB+ — PR B 0 Bk i
(Lo - b AN E R _ (28)  REF . 208 10110

1.17; 77-«' F—%vbw—-(,‘
(2)b~ c FARYEB LA R__(29)  {REf - 40 22220
l\
(315 0 ~ b ITLAEAGIE > Mg el
SRS 12 (R R B B (30) P o -

204018+ TR By HE R T USSR BRI AR B © AR - B R d 2 T
HREHE S AR Z S EI0E5 B+ 07 Z W5 T3 150 RS NIRRT » T T 07 2 B85 7 1) i ELA AR - A
—HERR g HE R m i AL » HEE U A0 B P SRR R T RN
BT T31) HEE BB IRN « QSR T 052 A R ORI T 08 r 0 0 3R
JIBIZE R R TTET RHE R A B TS AN - P R k(31 0

204008 - BOKSEEY O mrY e BIEA L 0 i ~ BERHE By R AUSEE ab > Wil B i
B
,jmﬁmmmeramwmvﬁeﬁegw (32) "
a7
(2 EE TR 1 ) LR T, T R 80 E 1 Bk s 2 (33) ’

22 R A AUE > —FF R0
iR QU F1RIRNVENEE R __(34) -

(F5LL N ERSER B b e ¢ DURERI m Ry #3)
EH S R R ORI s T E

PSS UM ERR BN - 5 N REE .

-3-




R N~ BE

0 NS SRR - SURT -

RELR AR - SEHE R

g=10m/s" = (1) B/ NERTE BRAA T 4 512 (H I B4

NEEIER B _(38)  (s) °
(2) R |5 - EEh T b 4k

AERRIER__(39) m
274 IR A

TR

i

L FH AT LA E E s s A T R ¥ Jig LG
RO8 By Po o JEIRFRALIEAYIERE s b o E LR

BEGLIEIAT h/2 iV BRSNS
(40

—

48 G
TEIEH TR L iR '

|
L I
frong= =X "
B MR b BBR RS SR RN B

i:’._~,‘.,~-.___..,

W T T

S—— p—
>

ety

-+ 7.



] 2 3 4 5
99 17.5 10 14.4
6 7 8 9 10
sl T4 1.5 cm 9 30 /(
,,,,,,,, 2 e
73 Ve
11 12 13 14 15
1:cosa 0.2 3400 10:9 5 x 10°
3
16 17 18 19 20
0.02 2v, sing Vo' sin0 v, 5in20 8
gsing 2g sing gsing
2] 22 23 24 25
B \7Z 76 5043 ;12»:ID~nR
25 TS
26 27 28 29 30
(eE”-—mg)~L— 1| (eE—mg)L : 2 10 2
Vo 2m Vo 3 5
31 32 33 34 35
q'B? (RP) mgR(sin 6 — p1cos ) _mgRsin@ Iy _ 8h
2md B (Bcos6)* L e o1
36 37 38 39 40
bt 63/65 =14.75 200m dgl. . 4PSL
—~——«”h/ cost ii—i \[E £ = ’
. 3 H-2L" M(h-2L)




